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1. The IUPAC) name of the following compound is :
ClL

)W\Br(
A. 2-Bromo-7-chloro-6-methyloctane
B. 2-Bromo-5-chloro-2-ethyloctane

C. 7-Brom0-4-chloro-3-methylocta‘ne
D. 6—Bromo-3-chloro-2-ethylheptane

2. The product of the following reaction gives

S)
\/@ KMnO,4/ OH /H,0
OH OH -9
g 0
A) OH B \):/<0H C) ﬂ D)

3. The product for the following reaction is:

) P 2 Na/Dry ether > ?
s e o

A. Nonane B. Octane C. Decane D. Hepatne

4. The reagent needed for the following transformation is

/\ngBr H3O® ???
» T e L o

Hy/Pd
5. The reaction of A — 2 5

A. CHs;CH;
B. CH3CH>CH;

Pd

l
D. CH3 -CH - CH3

gives:
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6. The following compounds are considered as:

A. The same compounds
B. Optical isomers

C. Structural isomers

D. Geometric isomers

7. The type of hybridization of the indicated carbon in the following structure is

/\O
A) sp B) sp*d C) sp? D) sp?

8. The most unstable ring in the following cycloalkane is:
A A B[] c) Q D) O

9. When 1-propene reacted with H>O, the major product will be:
OH

A) )\ B) — >OH C) L p ~AF

10. How many ¢ bonds are in the the cyclopentane?

O

A.5 B. 10 C.13 D. 15
11. cis 1,2-Dimethyleyclopentane compound is

A O—- B) é—- c) [;’O D)é
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12. The IUPAC name of the following structure is

Cl
/k/\
cis-4-Chloro-2-pentene
trans-2-Chloro-3-pentene
cis-2-Chloro-3-pentene
trans-4-Chloro-2-pentene

Sowy

13. Bromine reacts with an alkene in water to give a:
A. Bromohydrin
B. gem dibromid
C. vic dibromide
D.

Monobromide

14. Saytzeff's rule states the .............. is formed most readily
(A) Least substituted alkene (B) Most substituted alkene
(O) Least substituted alkane (D) Most substituted alkane

15. The product of the following reaction is

O( O/ Zn, AcOH
1% o} 0 0 o}
A) /\[M B) /UW/W/U\ € /U\/\/U\ D) HWH
0

16. E/Z nomenclature refers to

A. Giving common names to compounds
B. Geometrical isomers
C. Optical activity

D. Conformation of aromatic compounds.



NO, Br

17. The IUPAC name for the following compound is

A) 3-Bromo-6,7-dimethyl-Z-nitro-4,7-octadiene
B) 2,3-Dimethyl-5-bromo-7-nitro-1 4-dioctene
C) 5-Bromo-2,3 -dimethyl-7-nitro-1 ,4- octadiene
D) 5-Br0mo-2,3-dimethyl-7—nitr0-1,4- dioctene
18. The structure of 5-chloro-2-ethyl-3,4-dimethyl-1-hexene is

= Cl
A B) /H/H]/\ 0) W D) :
Cl Cl Cl

19. The unknown compound X is

1. NaNH,
s — C=C-CH,CH
X T CHcEB l> Sk

A) [>—CEC-CH3 B) [>—czcsr C) [>_CECH D) [>~ﬁ=csr2

20. The compound with the highest boiling point is
A) n-Hexane C) 2,2-Dimethylpentane

B) 3-Methylpentane D) 2-Methylbutane

21. The reagent X needed for the following transformation is

1) NaNH,
—= 2 X =
OH | Br oH
A & 5 T o )ﬁ/ D)

22. Addition of excess Br; to alkyne gives
A) Tribromo alkane C) Tetrabromo alkane

B) Dibromo alkene D) Tetrabromo alkene
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23.

24.

25.

26.

27,

The number of bonds in cyclohexylacetylene are:

"

A) Twenty ¢ and one = bonds
B) Twelve ¢ and four 7 bonds
C) Twenty o and two = bonds
D) Twelve o and two © bonds

The correct common name of the following compound is:

Br
A) Vinyl bromide C) Bromoethene
B) Ethyl bromide D) Allyl bromide

Methylacetylene is the common name for

A) Propane B) Propanol C) Propene D) Propyne

The carbon bearing a negative charge is called

A) Carbonium ion C) Carbanion

B) Free radical D) Carbocation

Which of the following reagents can be used for the following transformation?

COOH
COOH
?
e
AICl3
o)
o o)

o 0
A) \/”\C, B) ﬁm C) \)LOH D) \/U\N ‘
a
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28.

29.

30.

31.

32.

33.

Which of the following compounds has an aromatic character?

OH OH OH
OH OH [ N N OH
A) B) C) | D |
N — N~
H ' .

Which of the following aromatic compounds contains 7 carbon atoms?

A) o-Xylene  B) 1,2-Dichlorobenzene C) Toluene D) Ethylbenzene

Which of the following is 2,3,5-trimethylphenol?

OH OH OH
O\

The reactant X is

COOH
© ‘
X KMnO4/ OH H,0

COOH

Which of the following compounds can undergo electrophilic aromatic substitution
reaction?

A) Ethene B) Benzene C) Ethanamine D) Ethane

The reagent needed for the following transformation is

Br
OzN\©/ ? ON
NO, NO,
A) Bry + FeBrg B) HNO3 and H,SO4 C) KMnO4 and heat D)Br, and heat or light
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34.

35.

36.

37

38.

39.

40.

Which of the following molecules has an ionic bond?

A) CO, B) KCl ‘ ~ O)Bn, D) H,
Which of the following compounds can exist as enantiomers?

cl of | »
P D T

Br

One of the following name is incorrect

A) Methylbenzene B) 2,2-Dimethy1benzené
C) Toluene D) Benzene

. The bond angle in ethene is

A) 60° B) 90° C) 180° D) 120°

Which of the following substituted benzenes have o,p-directing group?

CN SO;zH NO,
T T W ey

The structure of phenyl cyclopropane is

)©/OH
A)AQ B)A@ C)% D)%

Which of the following is chiral compound?
Br Br Br Br
| I —~H )—
A) yrz CHCHs g o =H C) HyCH,C - ) g N
CHs CHs H CH;
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